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Aufgabe 1

Stelle den Bruch als Prozentsatz dar.

a) 383
1000 b) 147

200 c) 999
1000 d) 31

100 e) 469
500 f) 71

250
g) 723

1000 h) 16
125 i) 213

500 j) 357
1000

Aufgabe 2

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) 1
4 = 25

100=25% b) 43
100 c) 49

50 d) 99
100 e) 19

50 f) 3
25

g) 21
25 h) 3

20 i) 71
100 j) 63

100

Aufgabe 3

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) 1237
5000 = 2474

10000=24,74% b) 1083
2500 c) 9051

10000 d) 297
500 e) 4257

5000
f) 7729

10000 g) 2717
10000 h) 3999

10000 i) 161
625 j) 1761

2000

Aufgabe 4

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) 931
1000=93,1% b) 31

100 c) 57
100 d) 779

1000 e) 307
1000 f) 659

1000
g) 21

25 h) 457
500 i) 157

1000 j) 711
1000

Viel Erfolg!
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